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Compute the values of bending moment and deflection at 4, B,

PROBLEM:
cantilever beam AE built into @ rigid support at E. 2

c, D, and Einthe

gOLUTION: .
) Tabluate the yalues of point loads W. :

(

The sign must be included, upward {oading being positive. The factors column Nodal loading W
is used to keep all numerical work as simple a8 possible. !
- Chard sh
(2) From the W values and one shear yalue, compuie chord shears. ) " oré sheer $
I's mnont ing
As the shear t0 the left of A is known to be zero, all shear Jalues are found by \,, z_. remert
Moment M
Y

adding across trom left to right 28 indicated by the arrows. ‘

f moment jncrement in each chord,

(3) Compute yalues ©
This line is booked separately 10 show the effect of unequal
ord length.

increment in each chord = chord shear * ch
moment, compute

chords. Moment

node moments.

(4) From moment increments and one value of
are found by adding across from left to right.

AsMy =0 moments

(5) Sketch the form of the M|I diagram. ,
This is an important step s it indicates the correct way 10 apply the cote \

centration formulae.

- y', at each H.H.o.mow‘
As chord lengths arc unequal (e
Fig. 1.9) is used to give ¥ at each

¢ the total y* at each node.

the noaoo:ﬁwzoa of

(6) noimﬁm Y,
Trapezoidal formulae apply all through.
Wga = (h6)2wpa + ¥ AR formula. (se€

side of each node. These aré added to IV

(7) From ¥” and one stope yalue, compute chord slopes.
Asyp =0 chord slopes are found by subtracting from right 10 feft wa
cated by the arrows: This step is similar tostep @) .

deflection increment in euch chord.

nt ineneh chord

allgelion ¥

(#) Compute values of

‘This s simitay 10 sle
ehord fenpib.

P Pellection inereme chord slope

(3 hrom dellection Derementi sl one vt of deflection, compule deltectiot

SR il o step (A AV 0, deltectionn e
s e o it by (1 RTTOWE:

found by wubliae I

STATICALLY DETERMINATE BEAM SYSTEMS
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